

lab 5 : By Rawan Fares
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long id=sc.nextLong();

System.out.printin("Enter the salary for "+i+" employee");

double salary=sc.nextDouble();

System.out.printin("Enter year , month ,day of birth "+i+" employee");
int year,month,sec;

c.nextInt();

c.nextInt();

sec=sc.nextInt();

Date d=new Date( year, month, sec);

emp[i]l=new Employee(departmentNumber,name,id,d,salary);

System.out.println("Filling array done :)");
Employee Emp=largestSalary(emp);
Emp.printEmployeeInfo();
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2. Develop MyArray class. The internal representation of this class is an array of integers.
The following methods should be included in the class to deal with the array:
MyArray(int []) / Constructor
min( ): int // returns the minimum element in the array
max( ): int // returns the maximum element in the array
average( ):double // returns the average of the elements
printArray( ):void // prints the elements of the array
getSize( ):int //returns the length of the array
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Average (mean) is X = m

Develop a driver class to create objects (array) from the created class and test their

behaviors.
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public class MyArray { 2 usages
private int[lapr; 15usages
MyArray(int [larr){ no usages
this.arr=arr;
+
int minQf] no usages
int min=arr[0];
for(int arr.length;i++){
if (arr[il<min)

min=arr[i];
+
return min;
|
int max(){ no usages
int max=arr[0];
for(int arr.length;i++){
if (arr[i]>max)

max=arr[i];

+

return max;
+

double avarage(){ no usages
int sum=

for(int i<arr.length;i++){
sum+=arr[i];

+

return sum[arr.length;
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void printArray() { no usages

for (int i=0;i<arr.length;i++){

System.out.println(arr[il]);

+
int getSize(){ no usages
return arr.length;
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import java.util.Scanner;
public class Driver2 {
public static void main(String [Jargs){
Scanner sc=new Scanner(System.in);
System.out.println("enter the size of the array");
int n=sc.nextInt();
int [Jarr=new int[n];
for(int i=0;i<arr.length;i++){
arr[il=sc.nextInt();

+

MyArray num=new MyArray(arr);

System.out.println("min num "+ num.min());
System.out.println("max num "+ num.max());
System.out.println("size of array is "+num.getSize());
System.out.println("avarage of the array "+ num.avarage());
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1. Create an Employee class according to the following UML.

Employee

~departmentNo cint
“name: String

-id: long

~birthDate: java.util Date
hireDate: java.util.Date
~basicSalary: double

+ Employee()
+Employee(departmentNo: int , name: Srting , id: long,
birthDate: Date , Date: Date , basicSalary: double)

+ setDepartmentNo( departmentNo: int ): void
+getDepartmentNo(): int

+setld(id : long): void

+getld{long

+ setBasicSalary(basicSalary: double): void
+getBasicSalary(): double

+getName(): String

+ getHireDate(): Date

+getBirthDate():Date

+printEmployeelnfo) : void

Write a driver class that creates an array of 4 Employees then passes the array to a method
named largestSalary which will return the employee object with the largest salary.

public static Employee largestSalary ( Employee [ ] employees)
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import java.util.Date;
public class Employee { 6 usages
private int departmentNo; 2 usages
private String name; 4 usages
private long id; 4 usages
private Date birthDate; 3usages
private Date hireDate; nousages
private double basicSalar; 4 usages
//constructors
public Employee(){ nousages
departmentNo=1000;
name=
1d=123;
basicSalar=400;

+

public Employee(int departmentNo,String name,long id,Date birthDate,double basicSalar){ nousages
this.name=name;
this.departmentNo=departmentNo;
this.id=1id;
this.birthDate=birthDate;
this.basicSalar=basicSalar;

+

//setters and getters

void setName(String name){ no usages
this.name=name;
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String getName(){ 1usage
return name;

}

void setId(long id){ no usages
this.id=1id;

}

long getId(){return id;} 1usage

void setBirthDate(Date birthDate){this.birthDate=birthDate;} no usages

Date getBirthDate(){return birthDate;} 1usage

void setBasicSalary(double basicSalar){this.basicSalar=basicSalar;} nousages
double getBasicSalary(){return basicSalar;} 4 usages

//method
void printEmployeeInfo(){ 1usage
System.out.println("Name: "+getName()+" Id: "+getId()+"\nbirth date:"+getBirthDate().toString()+"\nSalary:"+getBasicSalary());
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import java.util.Date;
import java.util.Scanner;
public class Driver {
public static Employee largestSalary(Employee [larr){ 1usage
double max=arr[0].getBasicSalary();

int j=0;
for(int i=1;i<arr.length;i++){
if (arr[i].getBasicSalary()>max){
max=arr[i].getBasicSalary();

3=i;

¥

return arr[jl;

}
public static void main(String [Jargs){
Employee []emp=new Employee[2];
Scanner sc=new Scanner (System.in);
for(int i=0;i<emp.length;i++){
System.out.printin("Enter department number "+i+" employee");
int departmentNumber=sc.nextInt();
System.out.printin("Enter name "+i+" employee");
String name=sc.next();
System.out.printin("Enter the id "+i+" employee");
long id=sc.nextlong();
System.out.println("Enter the salary for "+i+" employee"





